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1| #%F | B |620502%k*+**%x3333 7803 87.040 | 81.634 1 |#EANT 3
2 | N | L |620502%%*xkxkx5343] 77,02 86.088 | 80.647 2 [FENT ¥
3 o3 1 [620524%kxkxkxk2623| 7596 86.650 | 80.236 3 |HENT ¥
4 | RER | B 6205028k xkxx5113|  76.09 86.306 | 80.176 4 [ENT 3
5 | SEEVE | & |622126%*kkRkxk0029|  74.86 87.268 | 79.823 5 [N
6 | BREM | L& |620502%%xxxxxx2768[ 7593 85.556 | 79.780 6 [HEANT—HT
7 ¥it] 4 [620502% % k%% %6349( 7525 86.456 79.732 7 AT A
8 | G/h= 4 [622723%kkHkHk%%1440(  74.93 86.650 79.618 8 |HEANT Y
9 oo 4 |620502%k*k*xk*68D0(  74.62 86.824 | 79.502 9 [HANT—H
10 | EEH | B [620502%k+kxkxx02]18|  74.71 86.664 | 79.492 10 |HENT—31
11 & 14 | 620502k kkkkRTTAD [ 7476 86.016 79.262 11 |HENF 3y
12 | B4k 4 1620502k kkkkkxD06X[  73.98 86.726 79.078 12 [T
13 | 24K 1 [622628%kxkxkxk002]|  74.23 86.334 | 79.072 13 |HENT 3
14 | ZER 4 |620502%%F***x%2325( 7410 86.184 78.934 14 [FFENT
15 | Em 1 |620502% k¥ **k*%%3342| 73 68 86.350 | 78.748 15 N3
16 | Tk 14 |620502%*xxxxxx7120(  74.13 85.528 78.689 16 |HEANTF T
17 | =T B [620502% %kxkxx6615] 7271 86.782 | 78.339 17 |BENT —3
18 | skfia 4 [620502%*kHkH%%%3848( 7250 87.056 78.322 18 [HEN T —ERT
19 | XEFH 4 |620502%kkExxxk5343( 7] 84 87.718 78.191 19 [BFEANT
20 | REE 4 620503 % *Hkkxxx536]1 7243 86.726 78.148 20 [HENT 3
21 | FEBHIH 4 [620502%***k*%%%5849( 72 59 86.354 78.096 21 [BEANTF 3T
22 | ik 1 [620502%k*kxkxk77281 7230 86.726 | 78.070 | 22 [FEAT— TS
23 | INFE | B 620502 kkkkkkk]659 72,82 85.856 | 78.034 23 [FENTF—3F
24 B 1 |620502%k*k*xkx]383( 7187 87.278 | 78.033 24 [EANT—HT
25 | EE®E 4 620502 xRk 5629( 72 22 86.560 77.956 25 N3
26 | 7rBH B |620502% ks xkx331 1| 71,75 87.256 | 77.952 | 26 [HANTF—HT
27 | Hik 1 [620523%kxkxkx%0029|  71.59 87.444 | 77.932 | 27 [EANTF—H
28 | Freum | B |620502%kxxxxx7119( 72,61 85.800 | 77.886 | 28 [@HEAT S
29 | W 1 [620502%k**kxkxk5341| 71,77 87.048 | 77.881 29 [EANT—HT
30 | XKAR | L |620502%%kEkERED94XK] 7213 86.444 | 77.856 30 |EANTR—H
31| KPS B 1620502k kkkkkk413X[ 7221 86.308 77.849 31 |[BEANT —3FH
32 | EABE | A |620103%*xxxxx%0323(  71.55 87.286 | 77.844 32 |HEANT ¥




33 | dkaFHE | L |620525%wkEwekk]025  71.74 86.776 | 77.754 33 AT 3
34 fAT g B [620502% k% xkk%x1652( 71,15 87.432 | 77.663 34 AT —HT
3B | & 1 [620502%F*kxkx%2066|  71.52 86.642 | 77.569 35 |HEANT ¥
36 | Eig B 620502 k#xxxx33]18f 7183 85.862 77.443 36 [HEN T3
37 | MR 4 |620502%kFkF*xkkG146)  T71.52 86.286 77.426 37 [HENT 3
38 | X B |620502% k% x%x1356 70,80 87.216 | 77.366 38 [FEANT ¥
39 G 4 620502 *kkKk%%3324( 71,59 85.866 77.300 39 |HEANTF 3T
40 | MBFHE 4 |620502%kFF*xk%k5824( 7140 86.146 77.298 40 |HENTF 3T
41 Ik 1 [620502%k*kxkx%75201 70,63 87.142 | 77.235 41 [FEANT 3T
42 | FiEm | 5 [620502%kx*kxkxx6637]  70.91 86.612 | 77.191 42 [ENT 3T
43 | ZIRH | & [620502%k*kxkx%k5906]  71.11 86.188 | 77.141 43 [EANT—HT
44 | Sy 7 |620502% ¢ *k*k%1062|  70.18 87.416 | 77.074 | 44 [FEAT ¥
45 b4 B 620502% k% xkxx% 1678 70.41 86.980 | 77.038 45 |HEN T —3A
46 | HHH | L [620502%Fkxkxk6640(  70.62 86.616 | 77.018 46 [FEANT 3T
47 A B [620502%k#xkkxx0754(  70.20 87.150 76.980 47 |[HENT—3T
48 XUV 4 [620502% k%2066  70.19 87.136 76.968 48 |iFNTF—¥FT
49 | BESCHEE | A |620502%kxkkrkx564X[  70.35 86.792 | 76.927 | 49 [FEAT ¥
50 | wkEEL | 4 |620525%kxkxkkx0042  70.76 86.094 | 76.894 50 |HEANT ¥
51 | VP 1 [620502%k*kxkx%7726] 69,92 87.166 | 76.818 51
52 | EK¥ 1 [620502% ****x+%3325] 70,88 85.628 | 76.779 52
53 | VEM B |620502%k*kkkkx681 [ 70.59 86.044 | 76.772 53
54 IR 1 [620502% xRk xx3680( 70,59 85.946 | 76.732 54
55 | KJkEE | B |620502%%kxxxx%2057(  70.38 85.566 | 76.454 55
56 | KA 1 |622824xkkExxkk]1 667 69.96 85.928 76.347 56
57 | | 4 |620502%%xxxxxx380X|  69.76 86.168 | 76.323 57
58 | B 4 |620122% k¥ k*x%x1425( 69,75 85.856 | 76.192 58
59 | 1RE 4 [620502%kFxkEx%k5927( 69,83 85.548 | 76.117 59
60 | BHEIE | B |620502%%k*xxxx0753 69,73 85.360 | 75.982 | 60




